H & 0l &8 AH S H Al A
2016EE =& 2 3 ALBG|H W
SA: TR
M HYR2AZHI(WRD)
el J|=2g (2l &)
2N -3 - A(SH) - MRAY - BYS Oil &k N HwE2
TH St 5,097,905 5,074,195 23,710
£ 32,000 32,000 0
= 5,065,905 5,042,195 23,710
Y 2HAH|(THR) 39,302 42,450 A3, 148
JlE23dl 39,302 42,450 A3, 148
Jle=dl 39,302 42,450 23,148
201 LBH2AL| 26,990 29,490 22,500
01 AtR2teltl 22,990 25,490 22,500
O get=&H| 16,900 19,400 22,500
0 AIRI1D1 & SAEEFY 12,500,000& 12,500 15,000 22,500
202 (44| 12,312 12,960 2648
01 =LHOIYI 12,312 12,960 2648
O 2HHI(2S2Hl) 171,0003+ 6= S+ 122 12,312 12,960 2648
=2 2zl 440,415 445,680 Ab,265
£ 32,000 32,000 0
= 408,415 413,680 Ab,265
KA 20 & HAEE 145,007 147,027 A2,020
NEARL F HHER 145,007 147,027 A2,020
201 LBH2AL| 64,017 65,317 21,300
01 AtR2teltl 26,494 27,794 21,300
O get=&H| 19,924 21,224 21,300
0 KIZAl OCR HAFDXIA QI
65,0002 *1108f A 7,150 8,450 21,300
202 (44| 28,480 29,200 AT20
01 =LHOIYI 28,480 29,200 AT20
O GBlI(HIRYRF) 190,000 621123 13,680 14,400 AT20
KAl &= 210,241 213,006 A2,765
£ 32,000 32,000 0
= 178,241 181,006 A2,765
KAl &= 178,241 181,006 A2,765
201 LEt2ZH| 64,272 66,177 21,905
01 AtR2telt] 43,991 45,8% 21,905
O giet=Z| 22,479 24,384 21,905
0 KAl MADXIM (ML, S5) oM
65,000 80 A 5,200 6,500 21,300
0 MMl =+ 225 ME 1,210 1,815 2605
o MM LHHel 28 &9 HME
55,0002 * 11 2+23 1,210 1,815 2605
202 (44| 16,340 17,200 A860
01 =LHOIYI 16,340 17,200 A860




2A: MR

Hu: 29 2wl

Shol: XIZAl B4 (Srel: &)
SA - Z2 - 2A(3H) - MRA - BES Ofl &kt DIPSEL Hws2
S EICEEIEEEST)
190,0002/%301+ 128 6,840 7,200 A360
O OfHI(MZHESER)  190,0008201 128 4,560 4,800 ~2A0
O S HEZH BS34+ EZ0I| 4,940 5,200 ~260
0 A, AR, EH, 810 570,0002+4)HS 0l 2,280 2,400 A0
0 XHEH, Q5 ME, DA, AR MR, AS
380,002 %772 2,660 2,800 A0
ISP 85,167 8,647 A480
EIRSTIESES 85,167 85,647 A480
202 01t 11,520 12,000 A480
ENCE] 11,520 12,000 AB0
O OlHI(HI2I%2) ip8)
190,0002/%301+ 128 6,840 7,200 360
O OlBI(H2I+ RIdE: =7)
195,00024%201+ 128 4,680 4,800 A0
=T 2 80,863 8,218 3,365
ZSZAF B} 80,863 8,218 ~3,365
ZENTAIE D 80,863 8,218 ~3,365
201 Lstegy| 48,49 52,464 13,965
01 ARt 48,49 52,464 73,965
O Ysr=gt| 45,489 49,454 13,965
0 HEFEOI2] AFIIS2E
6., 1002413, 2005 *50% 40,260 44,225 ~3,965
202 01t 12,210 12,800 A5%0
ETCE] 12,210 12,800 A5%0
O OlbI(DHEEIIRA3)
190,000/ %491+ 128} 9,120 9,600 A480
O OfHI(SBOHLTSIIEA
190,000+ 11424 2,090 2,200 A0
405 THAHEISH] 1,200 0 1,200
01 RAILSEFHSY| 1,200 0 1,200
O NEZAII HRTA B2 (ES)
2,400, 00024 1CH50% 1,200 0 1,200
HEBAIXII} 22l 81,125 8,017 A48
HEBAIXIOE FAF & 4 81,125 8,017 A48
HLBAIKIOF AT 81,125 8,017 A48
201 Lstegy| 64,169 69,061 A48
01 ARt 64,169 69,061 A48
O Ysr=gt| 62,069 66,961 A48
0 HEBAIKIOL 2HBI} 2S442 51,583 56,475 ;"
O1Z1Y JIE 140,000 X597+ 1. 1x50% 45,969 50,238 £4,269
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SA:

X XH -
oS-

THS 1t
IHEZAIXIDH 2tel

CHRl: JHHZAIXIDE EAF LAY EERCE)
2N - Z™ - A2(3H) - MIRAY - BES 0| roH J| & oH Hns2
‘ ‘ ‘ o721Y JIE 1,800 XI*5,670R%1. 1%50% 5,614 6,237 A623
PUESESRe: 94,617 97,217 22,600
32 e 94,617 97,217 A2,600
HeE | KSR 76,517 77,117 2600
202 04| 11,400 12,000 2600
01 2U0i| 11,400 12,000 2600
O oHI(ZelgRa=8) 190, 0002 *501 %122 11,400 12,000 2600
SA=)| 2 18,100 20, 100 22,000
201 LBt2AH| 18,100 20, 100 22,000
01 AFRZ2IH 18,100 20, 100 A2,000
O LBt 18,100 20, 100 22,000
0 2AI2)| 3HBAM AM(HREDAM)
30,00024+80TH*25 4,800 5,600 2800
0 SEHSEDAM 2 20122 AESSR
13,300,000 13,300 14,500 21,200
THArzre| 4,357,383 4,314,413 42,970
2—DLTUARR] 87,670 94,100 N6,430
2 ZETHare] 87,670 94,100 N6,430
201 LBt2AH| 45,000 50,000 25,000
01 Al2Z2IH 45,000 50,000 25,000
O Lt 28,300 32,300 24,000
2R EE2AA2 200,00024352 X 7,000 8,000 A1,000
2THA D2 2SS
100,000/ *60Z X| 6,000 7,000 A1,000
0 SEHAE HI 8,000,000 8,000 10,000 22,000
O RFID SEZRIAAE SX2% 8,300 9,300 A1,000
0 EXEHD 2 2|2 (THE XA
3,000,0002 3,000 4,000 A1,000
202 04| 27,170 28,600 A1,430
01 2U0i| 27,170 28,600 A1,430
O OHI(THAFZR| A2 4-8H)
190, 00024901 %122 20,520 21,600 A1,080
O KHI(SH 2ZLMA AEIZEA}
190,000+ 11S™ 2,090 2,200 AT110
O OH|(2T 222 QIR 8H)
95,00024%401%122) 4,560 4,800 2240
Az 3,783,523 3,811,123 A27,600
PN =N 261,160 288,760 A27,600
201 LBt2AH| 261,160 288,760 A27,600
02 2229 261,160 288,760 A27,600




2A: MR
HEH: THAE
o2l FHAE (SHe &d)
2N - Z™ - A2(3H) - MIRAY - BES 0f| roH J|HH Hlns2
O X=Xl 161,760 189, 360 N27,600
0 MRS 119,760 141,360 A21,600
o &% 1,500& %150 £ =122 «320H 86,400 108,000 A21,600
0 Xt 2H| 100,000 *350H+12& 42,000 48,000 6,000
=22 486,190 409,190 77,000
=2l 486,190 409,190 77,000
405 RHaHESHI 486,190 409, 190 77,000
01 AL =SEFH SHI 486,190 409,190 77,000
O 237 339, 100 321,100 18,000
0 SAD| F2& 60,000 42,000 18,000
0 OHMAA DH(CHAI) 18,000 0 18,000
O H&E3x=28 & 147,090 83,090 59,000
0 AIRE A L N AT (IO1=ZAM)
700,000&*24 %= 16,800 0 16,800
0 AIRE A 2 N NP (F2IMET]
A1) 700,00024%33% 23,100 0 23,100
0 AIRE A 2 N TP (Aot=SAl
=PN) 700,00024%17% 11,900 0 11,900
0 A TIEIE PA(DIZIZAAR])
200,000 %36 7,200 0 7,200




